@ ﬁ % ﬁ Exposants négatifs de 10

Nom: Date: Note:
107 = 683,5x 1074 =
7% 10 = 9x10° =
8§x 10 = 688, 1+ 100% =
3% 100 = 2% 10=
443,2 x 1002 = 1009 =
463,4+ 1001 = 773,2+ 1072 =
107 = 633,1+ 1072 =
275,3+10° = 1002 =
7x 107 = 417,810 =
607,9 x 100 = 808, 6 x 10(¥ =
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@ ﬂ % ﬁ Exposants négatifs de 10

Nom: Date: Note: __
107 = 0.0001 683, 5 x 107 = 0.06835
7% 10 =70 9x10°=9
8 x 10 = 80 688, 1+ 10" = 6881000
3 x 107 = 0.003 —2x10=-20
443,2 x 1072 = 4.432 107 = 0.0001
463,4+ 107" = 4634 773,2+ 107 = 77320
107 = 0.001 633,1+ 107 = 63310
275,3+ 10> = 2.753 1072 = 0.01
7% 107 = 0.0007 417,8+ 107 = 41780
607,9 x 107 = 0.6079 808, 6 x 107% = 0.08086
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